
 

SNPs Table:  With each alignment, a SNP result table can be generated for each reference sequenced. This identifies locations with a level of mismatches that is higher than some 

threshold value. Where: Location=location of the SNP on the reference sequence, map=sequence complexity, cmCount=the number of crisp bases that match the reference, 

mCount=the number of non-crisp bases that match the reference, nmCount=the number of non-match bases that cover this location, cSNP%=nmCount/(cmCount+nmCount), 

wSNP% is cSNP% after adjusting for reads and base weights, ncSNP%[L] = average(PsnpBase[L]) / (average(PsnpBase[L]) + average(PrefBase[L])), cmScore=the sum of the weight of 

the reads that cover this location with a crisp base, nmScore=the sum of the weight of the reads that cover this location with non-matched bases, Ref=Reference base, MPB=Most 

probably base, Pm(nucleotide)=the average probability of each nucleotide that cover this location with a non-crisp base, Pnm(nucleotide)= the average probability of each 

nucleotide that covers this location with a non-match base.  We can see that SNPs ids 0 and 2 are heterozygous SNPs since they have about equal values for cmCount and nmCount 

which results in both cSNP% and wSNP% being about 50%. All other SNPs are homozygous with cSNP% and wSNP% near 100%. When wSNP% is higher than cSNP% it 

indicates that the mismatch bases and their reads at these SNPs have higher weight.  Higher weight reads are less likely to have sequencing errors which allows them to align more 

accurately. As an example, the SNP with an id = 12 is a homozygous SNP with 63 mismatches and zero crisp matches which gives a cSNP% value of 100%.  It also has 8 non 

crisp matches with ncSNP% value of 77.46%, which is the result of an average probability to the reference base (T) of 22.24% and 76.46% for the SNP base (G). 

 


